1. The position function of an object moving horizontally along a straight line as a function of time is s(t) = 3t2 – 8t + 4, t≥0, in metres at time t in seconds.

a) Determine the velocity and acceleration of the object.

b) Determine the position of the object when velocity is 0.

c) Determine the speed when the position is 0. (position is 0 NOT time is 0) – must set s(t) = 0)

d) When does the object move to the left?  (HINT – velocity is negative)

e) Determine the average velocity from t=1 to t=3

2. Determine the max and minimum of  f(x) = 2x – 7/x for xЄ[2,5]

3. After a soccer ball is kicked, it height, h, in metres above the ground at t seconds, can be modeled by 
h(t) = -4.9t2 + 24.5t , t≥0.

a) When does the soccer ball reach its maximum height?

b) What is the soccer ball’s maximum height?

4. Ms. Thangaraj purchases 3000 m of wire fencing at a Home Depot.  She wants to create an enclosure whose width is twice as large as its length.  Find the dimensions of the enclosure with the largest possible area.

5. Mr. Thangaraj purchases 4000 m of used wire fencing off Kijiji.  He wants to use the fence to create two adjacent rectangular paddocks.   Find the dimension of the paddocks so that the fence encloses the largest possible area.



6. Ms. Moodie owns a rental unit with 60 apartments.  Each currently rent out for $950 a month and all are occupied.  She wants to raise her rent and after doing some market analysis she learns that raising her price by $50 will result in 5 vacant units.  What rent should she charge to maximize revenue.

